
TRAILER HITCH 

Qty    Part Description
1.........Asm-Bumper Hitch 121/136 Blk - PN 1018128-067
6........ 1/4” nc x 3/4” Allen Socket Machine Screw
6........ 1/4” nc Nylok Nut
1......... Instructions  PN 9921400

Application
 All  2008 Polaris IQ and Switchback Snowmobiles

Before you begin, read these instructions twice and check to be sure all parts and tools are accounted for. 
Please retain these installation instructions for future reference and parts ordering information. 

P/N 2876562

This kit includes:

Tools Required:
	 7/16” Open-end Wrench and Socket
	 5/32” Allen Key
	 T-25 Torx Bit
	 17/64” Drill
	 Drill Motor

-1-

IMPORTANT:  Your Polaris accessory is exclusively designed for your vehicle. Please read the installation 
instructions thoroughly before beginning. Installation of any item is easier if the vehicle is clean and free of 
debris.

INSTALLATION INSTRUCTIONS
1.	 Remove and discard the bolts retaining the existing rear bumper to the tunnel.
2.	 Position and fasten the trailer hitch onto the tunnel using four (two per side) 1/4’ nc x 3/4” Allen socket 

machine screws and the 1/4” nc Nylok nuts into the front and rear holes.
3.	 Transfer drill the two remaining holes and fasten using the remaining 1/4’ nc x 3/4” Allen socket machine 

screws and 1/4” nc Nylok nuts.

Step 2
Front Hole

Step 2
Rear Hole

Step 3

Trailer Hitch

P/N 9921400 Rev 02  03/11
Printed in USA 


